3.5 per1 Group work Factoring.notebook October 03, 2019

Turn in your graded hw answer sheet with all
work on a SEPARATE sheet stapled to the back

QUIZ

Oct 2-9:40 AM

Monday Quiz 2 No Calc: Solve by factoring, compl. the square & quadratic formula (Days 1-3)
Tuesday Quiz 3 No Calc: Function Properties (Day 4)

P28 8) {+f6| 12) {+iV3)
28) {-5,-3} 29) {4iﬁ} @{Si\/ﬁ}

32) {-3+2i} 46){5i;/3_3} pg 37: 51
c2-2c+4
48) {3J_r\/6} 75) {—1i\/3} ¢

Oct 6-6:28 PM
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Factor each ot
+he |0 Queshons.

Finish for HW
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1 sPexteTt-9x-18 X Hbx + <
b i 2 1
E 1] F =X 2. Y (x 2y M- 3
= N—r—————- > 2 _
~ E 2 — Y (9-1) —=
5= 6+ + X(2=<1) = (¥ +1>< 7_
_(x=a) (X* +X+2) = (F3) () a\ 3
= () (=X X = 3= 1)

=3(x" +3x-1)(x* +3x+1)

{ e i
‘Rearrange

X1m7x> =18 + X = ax
- (= 9)(x+8) + X (X=A)
= (P QYR+ a+x )

= (X=3)X+3) (X x+)
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2. 4(x*+3x)7 - (%% + 30 - 3

Let U = X *+3%

u>=v- 3
(du+3)V -1 )

omMmi+ middle
=
2
—4,3

(4 (30 +3) (X 3x— )
SCPEIFTEE) G S

o

3. x%-4x3 - x4 4y

- (x=9) (=)
-\ (X -1

X3(x-4) =% (x-4)

= X (X=X DD
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& PRl e
(X x-06) + XY

- 3 D2+ (X+2DK2)
- (x_2> (xz’ ()(+33+X+2>

= (- 2) (X33 X2

5. x*edi’- 3 Bx-10 ‘Rearmng&.
= ax2- 10 + UX>+8Ex

= (X S)(X=2) +HX (K+2)

= () (X4 =S)

= (K*+2)(X+D) -t)
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6. ()~ B x)+ 12 Let 0=X">X
U3-8u +18
(0= 6YV-2)
(Y=X-b)(K=X~2)
= (X=3) (X2 (X=2)(x+1)

7, x*+2xi-Bx-16
X(x+2) - 8 (x+2)
= ((F2) (-8
- (32 (1=2) (+ 2X+4)
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B 2(x®-2x)?-5(x*-2x)-3 Lﬁ'{’ U:X%-JZX
b
ZUZ" 5U‘ 3 %.-..45
Hu=1)u-3) &

(2201 )(*-2x -3)
=(2X*-Ux=+1)(X-3)x+1)

9. x®fe3x'-16x%-48
X)L (X+3)
_—(X"'—kg}(x‘*—{b)

= (C+3) (K=K )
= (@+3) X +2)(K=2) ()
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10, (x- 4x)t - 170 - 4x) + 60 L€+U:X“_4X
U= 70 + O
(L—12)v-5)
(xl—qx—(z)(x%%x—s)
= (= D)D) = D)(x+ )

Oct 2-9:39 AM
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